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The author of poetry collection, "Mugtee’ is -
(B) Meethesh Nirmohi
(D) vijay Verma

(A) Kirti Sharma
(C) Asha Parashar
The mosque of Malik Shah is situated in -

(A) Jhalawar (B) Jalore

(C) Baran (D) Rajsamand

The Chairman of State Human Rights
Commission is appointed by the Governor on
the recommendation of a committee, who
among the following is not part of that?

(A) Chief Justice of High Court

(B) Opposition Leader of Legislative Assembly
(C) Chief Minister

(D) Speaker of Legislative Assembly

If the meridian that determines the Indian
Standard Time - (IST) is given the status of
Prime Meridian then what will be longitude of
the International Date line?

() 82°30 East (B) 97°30" East

(€} 180° £ast ) 97°30" West

Isarda Dam Project’ is ¢
onstryy ;
distese s? cted Fn whmh

) Koty and Baran

) Tonk and Sawai

(B) Jhalawar and Baran

(D) Dungarpyr and

Banswarg
“rait’ is located between -

"ﬂia and Sri Lanka
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"Mahansar’ is famous for -
(A) sari Mata Temple
(B) Golden work in painting
() Abundance of Mughal paintings
(D) The Haveli of 360 windows
10. Which of the following Hills is not a part of the
‘Satpura Range'?
(A) Maikal

(B) Bharner
(C) Rajpipla

(D) Mahadev
In 1818 AD, on behalf of the company, the

officer who made Treaty with the Rajput state
was -

(A) Charles Hector
(C) James Ferguson

11,

(B) Charles Metcalfe
(D) Mock Mason
12. 7o which sect Govind Dev Temple, Jaipur and
Madan Mohan Temple, Karauli are related?
(A) Gaudiya (8) vallabh
(C) Nath (D) Ramsnehi
13. Who is winner of women's singles in French
Open - 20227
(A) Caroline Garcia  (B) Kristina
Mladenovic
(C) \ga Swiatek (D) C. Gauff
14. Which one of the following is not correctly
atched? ‘
:.:1 Hammir Mahakavya - Nayanchandra Suri
(B) vansh Bhaskar - Suryamall Mishan
(C) Prithviraj Vijay - Chand Bardai
(D) Kuvalaymala - Uddhyotana Suri
15. Highest Ragi producing state of _ India is -
(A) Karnataka (B) Uttarakhand
(C) Tamil Nadu (D) Maharashtra ’
Which is the largest agro — climatic region
Rajasthan? e
(A)-Internal drainage dry zone E
id western plains
‘ ?g) Alv;';fper arid pa?tial irrt:;; one
1 v?a::t: i Hatund| (Ajmer) Was
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nsthitute 3
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s sideration of a no

for the cons
: 1ﬂ.3|rwl the chairman,
.of the total

18. In
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e hail t

goard shall be.. ...
URIC ipal
- per of persons entitle to vote thereat
ngm

() one third (1/3)  (B) Three fourth (3/4)
(€) Two third (2/3) (D) One tenth (1/10)

book ‘Planned Economy for

e motion

., who wrote the
india’?
(A) M. Visvesvaraya
() pt. Jawahar Lal
Nehru
president’s rule was imposed for the maximum
aumber of times during the tenure of which of
the following Chief Minister of Rajasthan?
(A) Bhairon Singh Shekhawat
{8) Haridev Joshi
(€) Mohan Lal Sukhadia
(D) Shiv Charan Mathur
- What is the r ce of Rajasthan in the
production of ¢ adnut in India?
W Second (B) First
~ {©) hird (D) Fourth
- Which o owing statement is true?
i) Jag khar sworn in as the 14" Vice-
P f India on 6" August, 2022
Lo person).
4 Jhankhar belongs to Jhunjhunu
nd is the second person from
n to become the Vice-President.
; been also a Lok Sahhn M. P.,

(B) Mahatma Gandhi
(D) Man Mohan Singh
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i st the

the first ap g :

the Rajasthan Public Service Guara y under

the second appellate a
decision of

20112 ntee Act,
(A) 45 Days (B) 30 pays
(C) 15 Days (D) 60 Days
25. During the tenure of which Governor General
of India, the Hindu Widow Remarriage Act was
passed?
(A) Lord Canning (B) Lord Mayo
(C) Lord Amherst (D) Lord Ellenborough
26.  How much share of the center and the state
has been kept for the financial arrangement of
the Drought Prone Area Programme (DPAP)
operated in Rajasthan?
(A) 50:10 (B) 75:25
(C) 50:50 (D) 60:40
27.  |odrava is famous for -
(A) Jats (B) Gurjars
(C) Jains (D) Sikhs

28. The Dry Land farming is done in India in -
(A) 75 cm to 110 cm annual rainfall areas
(B) 100 cm to 150 cm annual rainfall areas
(C) 35 cm to 75 cm annual rainfall areas
(D) More than 150 cm annual rainfall areas
29. \Where was Swami Keshavananda, a famous

education saint born?

(A) Mangloona Village (B) Rampura Berry

(C) Harnawa Village (D) Banasur Village
30. Who is a chairman of 15" Finance Commmission

of India?

(A) Nirmala Sitaraman (B) Ajay Narayan
(C) N. K. Singh (D) Dr. Ashok Lahiri

31. Match the following =
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 (2) Sakrai mata ,‘m’:@ﬁmt
. (3)Aaimata ‘lﬂ e
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mount that the 33.
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~f Raiasthan, population
whi 1sfri . w—
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el e :
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Are X = . 3 -—
Al Jaisakmer. Pah and Jodhpur
(B} saisalmer, Barmer and Bikaner Lo
(Cl Imer, Fali and Barmer ~r
{ Jgizaimer, Fall and Barfme (1:)
(D} Jaisgimer, Barmer and Jodhpur p)
i b e : =
5. Wwhich of the following (Irrigation Project - ‘—35-
Dustrict) is matched correctly? o
R
(k) Savar  ido—Kota N
(B) som lar - Udaipur el
(€} Sor a-Amba - Dungarpur
07 p. ift - Jaipur O
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o in? (ah ]
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' which year was first commemorative stamp o 3s.
N Vijay Stambh’ of Chittorgarh released? gg

(A) 184 (B) 1986 e
" (€) 1974 (D) 1954 :':
" Who wasthe political a
gent of Jalpy i o 30
by pur during the vc?
{C: Willam Eden (8) Major Burton
. Motk Mason D) Major Morrison

hm“' Andhare should be given credit for 40.
wy 1o light the painting styie -

(B) Uniar.
'O ki, 2
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match?

(A) Garnet - Kalaguman

(B) Manganese - Kala-Khunta

(C) Iron Ore — Morija-Dabla

(D) Rock Phosphate — Jhamar-Kotra

Which among the following is the quantitative
method of credit control by the Central Bank?
(A) Credit rationing  (B) Bank rate
(C) Direct action (D) Marginal
requirements
Which system is currently being adopted in the
field of Economic Planning in Rajasthan®
(A) District Level Economic System
(B) Federal Economic System
(C) Public Economic System
(D) Centralized Economic System
The cloth worn on the waist by the men of Bhil
tribe is called -
(A) Kachabu (B) Polya
(©) Jama (D) Khoyatu
45. " The one rupee note bears the signature of the-
(A) Secretary, Ministry(B) Prime Minister

of Finance .
(C) Governor, RBI (D) Finance Minister

46. Which among the fp.uwil‘\g :}Tdi;ﬂﬂgraphv P
Location) is not mrrei___:ﬂ? match .
(A) Oriya Plateau—Mﬂjm o
(B) Lasadia Plateau -__H;ﬁl;:f"’a"
() Bhakar — Eastern,Siron!
i bhalgarh to
(D) Bhorat plateau — Between Rarm
Gogunda T Cultivation
47 Which one of the fol E ‘511!1’;"?3
- Area) is not comzcﬂ’fmﬂ‘ g‘dlﬁdl i
(A) Pody - Andhra Pradestt S
®) Jhum - Assam
©) Ponam - Kerala _
©) Kumari - Madhya
Which of the foll

beneficiary district ©f 17
Project (iIGNP)?
{A) Pan -,
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i > sex ratio in
¢ to Census 2011, the
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nts lower than the national average
IE'I DF-‘L..' - o

) 15 points lower than the national average.
(C) 15 paints lowe

— the national average.
D) 11 points lower than the nat s

the Governar of Rajasthan is the ex-officio

chancellor of -

(A) Al the State as well as Private Universities
of Rajasthan

iB) 4l the State Unersities as well as all the
Central Universities working in the territory
of Rajasthan.

{C) Al the State Universities of Rajasthan,

(D} All the State and Private Universities as well
a¢ Central Uriversities working in the
territory of Rajasthan,

31 To whom did Kesari Singh Barhath addressed

‘Chetavani Ra Chungatiya’?

(R} Maharana Fateh Singh

B) Maharana Pratap Singh

(€ Maharana ajit Singh

Mirza Raja Jaisingh

52 ke
“ad the statements carefully -

I Tikaram Paliwal is the only Chief Mﬁnister

who has also been 3 Deputy Chief Minister
In Kajasthan.

_ time till now.

Which of the following 9ption is corract?
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54.

‘Mahamandir of Jodhpur' is a place of worship
of -

(A) Ramsnehi sect
(C) Bishnoi sect

(B) Dadu sect
(D) Nath sect

5. Which one of the following musical instrument
is different from the other three?
(A) Mashak (B) Algoza
(C) Shehnai (D) Khadtal

56. ‘Shivasamudram’ waterfall is located on which
river?
(A) Periyar (B) sharavati
(C) Godawari (D) Kaveri

i

In which of the following districts of Rajasthan
the ‘Inceptisols soil’ is found?

(A) Kota, Bundi and Baran

(B) pali, Bhilwara and Sirohi

(C) Jaisalmer, Barmer and Bikaner

B

(D) Jaipur, Dausa and Alwar

58. Maize is produced largely in which part of
Rajasthan?

(A) Central (B) South and South

East
(C) Eastern (D) Northern
Where did the subsidiary of Adani Hybrif!
Energy setup India’s first wind-solar hybrid

59.

power plant?
(A) Delhi
(C) Raipur
60. The motive of e-SHRAM portal is
(A) to create a kNa:lﬂnal
anised worker _
(8) :: :l;gonl:ne payment of workers
(C) 1o educate workers
(D) 10 create a National Data™
workers
\Who was the first
Legislative Assembly?
(A) Narayan Singh M”"d"
(B) vashwant singh Nah®'
(C) Poonam M" ‘“I w""‘
(D) Maharao Sangra™ =

(B) Jaisalmer
(D) Hyderﬂbad
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Mandal

Rhartiya Lok Kala
{B) Ton
(D) Udampur
<than the Chandrabhaga
ed in the month of Kartik ¢
(B) Sitaban
(D) Keshoraipatan
{ 1 which folk dance?
(B) Terahtali Dance
(D) Bhawai Dance
mcept of Multidimensional
v iclex w ntroduced !
{ (8) 2000
(€ 2011 (D) 2010
. Qorder Security Torce has launched which

pperation at Rajasthan border in January,
Maz?

N Operation Sard

Hawa

(B) Operation Shakti

Operation Pawan (D) Operation Kranti
g has been divided into 15 Agro-climatic
ones by

P The Planning Commission

8) The Water-Resource Ministry

A The Meteoralogical Department

0} The Aricultural Ministry

India‘s fircy

e refinery, was set up in

Raizsthan

{ﬂ] |U' iSar

T = (8) Amarsagar
Jadra

(D) Suratgarh
one of the following (Ornament -
" body part) is not matched corractly?

) Timaniya - Neck
) Ramihol - wrist

Mission’ is pein g

allya - Ear
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"oly Ménitod b? .
g
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g
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TRA BT 15 Pi-rerarg wewi § feg

T E —
[

(A) AT e g

(B) Se-w e He BT
(C) #em v gwy

() P ey gy

(B) Rifrr — wrer
(C) TE) — g (D) gt — @verrd
Py o P waife B oo o
[ -

(A) frgm ua shvenfiast stpar g
(B) fowr waner gy
(C) e, sy ot W e s g




—_—

GIRLS, 1

U Zw &
7 et
"# aifran
a
e
T
T
T
ey,
oy
b

71 Khus grass 15 mainly found in Rajasthan in- n.
{A) South-Eastern Rajasthan (Hadoti)
(B) Bharatpur and Tonk Forest division
(C) Abu Mountam region
(D) Western Rajasthan
72. \Which scheme has been implemented on the 72
lines of MGNREGA to provide financial support
to the families residing in the limits of urban
bodies of Rajasthan?
(A) Indira  Gandhi  Urban  Employment
Guarantee Scheme
(B) Rajeev  Gandhi  Urban  Employment
Guarantee Scheme
(C) mukhyamantri Shahari Rojgar Yojana
(D) Deen Dayal Upadhyay Urban Employment
Guarantee Scheme
73. Who was the first Chairperson of the State 7%
Finance Commission in Rajasthan?
(A) M. C. Surana (B) Heeralal Devpura
(C) K. K. Goyal (D) s. K. Ghosh "
74. \Who defeated the combined army of British ™%
and Jodhpur state in the Revalt of 18577
(B) Rawat Ram Singh (B Jaydayal
(C) Mehrab Khan (D) Thakur Kushal
Singh -
75. The ‘BHOR' program which is being ruanh"llth
the  co-ordination  ©f _the s
Commissionerate, Jaipur, i aimed at -
(&) Eradication of child labour E
(B) Rehabilitation of beggars
(C) De-addiction
(D) Rehabilitation of criminals L o
76.  Which of the failovﬁ"‘;;i:"::uww Station
been awarded Platinum GF
i y?
rating recently (8) Jodhpur
(A) Hyderabad o
tc’ Mumi : L “ mb"’hld In m

S

—— i " gy o o = I - g
W B U @ wY O§ e # g o
g

(A) whgr—udt e (grstd) 4

(B) A 3y 2fgs 99 fasrn |

(C) g WaT & A
(D) L'h'"?,'.# ArAver A
TR @) qO WO & Es el @

ﬁﬂ'f: T Tl @N] & e &7

eq e aftawt @1 @Al wEam @

(A) gfewr el s o IR anEe
(B) 3riltg el wEdl ITAR TR AT
(C) qrt wEdt AN At

(D) & ZuTe SURAE FEQ IR T
el

ORI W NIoU A ST & W s 1

o7 .

(A) T 3 goen  (B) BRIl T

(C) ® &, A (D) U8, & EY

1857 & Fify 4 W @ TR TH &

e Fn @ R ol

() et TEiNE A (B) SwTIE =

() Agwra W (D}?@ ERU

W (feasiar) FwEn O g
aﬂwwiﬁmuﬁwmm?ﬂg‘
7 o & -

(A) dr A T IE

(8) frg®! 1 g

(C) =t

(D) arrfira w1 YT

o 4 9 e v v WO B iy
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(A) g

(© it L
) e wort o T W i

fra A wenfan o wd 8 g
(A) A sl
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of the fO”Dng grgup5 of dlEff[CtS in
4 10 Wit ho aliu\’lal soil mainly found? l
:""Ji': nund| (B) Bikaner - Jalsaimer
[ g (D) Ranswara -
| Fr..?:-.ﬂii{? D NANT
| ,I_:h‘::j;aﬁ”d' got constructed by Akbar is
e 18 4 in wiaeh fort?
X amrr,ar'f\ (B) Nagaur
€} swand T (D) Gagron
o 1 unch Gder of Sufism, the symbol of
L .rr| .yn3l harmony Qazi H Hamiduddin Nagori,
neipnaed?
(A} Kadin |y (B) Magrib
() SL.hara\Ag%ﬁi (D) Chisti

B who ¢ callagghe Folk deity (Lok Devta) with
four hands?

(A _".|-Jn|har$.-.

(€ rattagh ¥
"

(B) Mallinath ji
(D) Kalla ji

B2 according to'the Census 2011, which district of
Raasthan had the lowest rural sex ratio?
(A} 3l (B) Dholpur
€1 Jaisalmebl? (D) Tonk

I which digthict of Rajasthan, in the latest
survey of Ge%gical Survey of india 2021, huge
d=posits of cement grade limestone have been

pund? <

(&) paj, o
©) thittorg 3R

Match these —

(B) Ihalawar
(D) Jaisalmer

1) Ajrakh Fﬁ (1) Kaithun
Fower | fabric printing (11) lodhpur

13} Mothda (IN) Balotara

| 'I .
fasuria ~— (IV) Barmer

ect option -

s~ .

78.

79.

80.

81.

B2.

83.

i_l : P
.‘-’}‘_ ’j m 1 i
o —
::r,:mhg@ i
- ", m—uu, (3) = (), (4) - (1) '
tm “OVIT(2) = (), 3)~ (), (a) - e
o ), 2= ), 3) - 1), () -
- M,' 0, (2) = (0, (3) = (1V), (4) — - (
”d’ﬂltn 2011 Census, the per :
centage of  85.
v_ %VMMuwm:_ .

1‘:‘13711 e W 9 AR @ por .
eEnd aaTel Hal arg STl g7 .

(A} .I;-l.-*-l EEd (B) drapT — ST

(C) T ﬁ (D) giwATSl — FRE

..|1..

B3I {TTv i

wpay g fAfa area fdd firel 9 R jr

.I.ll ; l

tt#) N (B) i E

(C) Fyar (D) AT

ety ded & wE PN g
apird, g Rectfet @ o7

(A) @i (8) iR E 8
(€) gErae] () farzeh B !
o el TN dtsad e wET S 87
(A) gF=me off (B) #adl=rel Sit I
(€) = ot (D) el o Lr-'
2011 B AT B U@ B ﬂﬂr

mnaﬁﬁnmﬁwﬁm‘ﬂmm?

(A) redt (B) eiteTyR
(C) GrEanr (D) &fm

W e 2021 T ey ¥ WEE

Us e & fae wvew frer &7
(A) ureh (B) srremarg:
(€) fFrdrems (D) Sy
iy
(1) s fre (1) gt
m qﬁ-@xﬂ TG U BT (1) TR



B6. Which state of India has the highest percentage 86. RS & P _ :
@ & &0 Iy | WA gFme # gl o

ot forest area ni the total area? ar= ,
H3%d i waife &

(A) Tripura (B) Arunachal Pradesh (A) ey ®) - o
(C) Nagaland (D) Mizoram (C) ’ﬂ‘ifu-"“&: . ;’_:T_“f yavl
87. Read 1':11_-ia1low~.r?g statements carefully - 87. sl @ S— I'-'r.."r‘—':u )
(i) In the late 19" rentury, the Desh Q}I?Shim (i) 1981 W o o 4 .ni F;I 12;,&?m6‘m

5abha was established in Mewar, QO

(i) Social reform was the core Dbjecti&zof the T w e #

Sabha. sk (ii) ¥ T A TR TR GO T |
Choose the correct code - - e e g -
(A) Only statement (i) 1s true :‘-"J (A) Fast e (i) oo 2
(B) Neither (i) nor {ii) is true A (B) 71 &1 (i) & (ii) & &
(C) Both the statements are true (C) =t Hoel Wewl &
(D) Only statement {ii) is true (D) et o (if) wew 2
B8. pharatpur Rajya Praja Sangh was es{@lished 88. WA Iy WSl WH 1 W gg -
‘il'] —p (A) 1938 # (B) 1942 #
. (©) fi ' ©) 199;?; (€) 1928 # (D) 19377
ﬁ 89. \whatis the ‘Badhar'? 89. ‘g T &7

(A) aicfie @ u@ [T
(B) wroteer @t U@ A
(C) faaTe TR TS Wi
(D) YA A1 T S
90. ﬁmwﬁﬁﬁmwwa?mqﬁ
Rt fre ar<lad @1 HEAR T ARG |

(A) An act of funeral
(B) A lake of Rajasthan
(C) Wedding banquet
(D) A tribe of Rajasthan
90. Through which newspaper did Vijay Singh

3845 [B111138

Pathik propagate the Bijolia farmer m:V_ement it
all over India? (o)
A e (B) wamd
(A) Tarun RaiaSthan (B, Pratap g :c: ﬁ AT {Dl, m
(C) Naveen Rajasthan (D) Yuganter ot <o P T @ e
91. when was the planning Begpgment Eé'? ™
established in Rajasthan? 3 (A) 1954 (B) 1955
(A) 1954 et (€) 1953 (D) 1956
(C) 1952 (D) 1956 5 r'!- ol g2 =@ & A @A 7w W ot 74
92. ‘pARAKH', recently seen I i fpat WA €7
which of the following? i (A (8) wwirT
(A) Education - dod ".m" : (c) afm ) vt
(C) Banking . (ﬂlﬁﬂ ot Unied ga. whmA o wyw wg W LI -
3. Who is the s:arm!'-‘ﬁ’"”ﬂ #? o =

. Nations at pmaﬂt?.
\ (A) Perez de W i
i © Antonio Guteres =

© o qive O W Sy




as, pecently (on 9™ April, 2022), who among the
illowing folk music artist of Rajasthan was

swarded 'Sangeet Natak Akademy Award'?

(A) Gazi Khan Barna  (B) Mame Khan

(C) Kheta Khan (D) Dapu Khan

95 How many volumes are there in ‘Batan Ri
Phiufwari’?
R A 16 (B) 14
(€) 10 (D) 8
OF

In which year, Rajasthan State Environment
Policy was declared?

(B) 2018

(D) 2008

(A) 2013
(C) 2010
-

7. which of the following {Political Activist -
Related Princely State) is not correctly

matched?
(A) Gopilal Yadav - Bharatpur

{(8) Krishna Dutt Paliwal - Dholpur

(C} Harimohan Mathur - Karaull

(D) Mathura Das Mathur - Marwar

The National Mission for Saffron has been
faunched 2s a sub - scheme of which among
the following programmes?

(A) Rashtriya Krishi Vikas Yojana

(B) National Horticulture Mission

(C) National Cash Crop Programme

(D) National Food Security Mission

. How many districts were included in ‘Intensive

Agriculture District Programme’ jn 1960-617

(A) 8 Districts (8) g Districts

8. (€) 10 Districts ©) 7 Districts

94.

g5,

96.

97.

B 8 W (9 st 2022 @) TR -
Mefefag & 4 fg o W 0d Saer ;
FE Aed rpTeH R TG R
(A) 7oy @ g (B) W @ |

(C) wqaT T (D) =T @

Tt & worad fros mel & Ry 27
i 101-
(A) 16 (B) 14
(C) 10 (D) 8
o O TaraRel e fEa ad # i

L

(B) 2018 102.
(D) 2008
Pyl # & @R (o BT -

(A) 2013
(C) 2010

st 3 <o) AR T 27
(A) TdieTe TTEg — WYY g
(B) FwTET grelarel — eitey

(©) #fvtest AR — |
(D) AT BT AR — ARATS
v ewm fem e 4 @ ﬁraﬁ"l
I B w9 g A T

(A) Ty iy R Fo
(B) v grTarr P

(C) ety el et WHITH
(D) sty el e et

131A @




. of Mewar patronized the painter

§00. Which rule

53 ‘|"-].|"1
Santus

(A) \iaharana Jagat (B) Maharana Raj

Singh

Singh |

(C) Maharana Amar (D) Maharana Kumbha
Singh

BO1. TS stands tor ~and it was

developed bY s
(A} New Technology File System; Microsoft
(B) network Technology File System; Apple
(C) New Technology File System; Apple
(D) network Technotogy File System; Intel

02. Match columin — | and column =i -

Column -1

(a) Bar codes

(b) OMR
{c) MICR ™
(d) QR Code E

(e) OCR
=
ive type tests
line payments
jental store labels

) (a)-(3), (b)-(1), (c)-(2), (d)-(5), (e)-{a)
{a)2), (b)-(4), (c)-(5), (d)-(1), (e)-(3)
(D) (a)-(a), (b)-(1), (c)-(5), (d}-(3), (e)-(2)

R MS-Excel?
(M =poweR (2,3)

(B) = POWER (2#3)

§ Yhich of the following js correct formula in

100. wifgadd ATH® FFER & JarE @ (H4 SRS
(B) HErTUT IAE
(C) WETToTl (D) HeERTon &
SRR -J
101, NTES & HATH R - ' £ QSR
g e faam ram o |
(A) = EFIErel HEd R, HIgHIATIE
(B) Frea@ daaran higel RieeH, T
(C) =y 2arelfon BrEd REEH, T
(D) Jead Sararal Hrgel Rivew; gAcd
102. Tomg | qT TR 1 BT e Y -
- |
(a) AR BIEH
(b) ST YHIMR,
(c) TRATEHIR.
(d) FLIR. P

WA _
(slwgmmqﬁéﬁéﬁﬂmw

(A) (a)-(3), (b)-(1), c)-(a), (d):(2 ), (e)-(5)
(8) (a)-(3), (b}-(1), {c)-(2), (d)-(5), (e)-(a)

' p (1), (e)-(3)
©) (a)-(2), (b)-(4). (c)-(5), (d) (1)
gy }(S), (d)-(3). (&)-(2)

(D} [ﬂ}'{‘), [b,'{llr ‘l:
103. W.W-—Qﬂ’f'ﬂ i pyer W WA a6 Whtor
?
: (8) = POWER (243

(A) = POWER (2,3
(C) = POWER (273) (0) = POWER (2+3;

(D) =POWER(2*3)




ne of the following groups

104, Which O
.’-r.i:'.'ii-'l'j:f e extensions?
(A) IPG, CPX, GCM

(B} JPG, GIF, BMP

(C) TCP, IPG, BMP

(D) GIF, TCE, WM

. 105 In context of MS-Word — 2019, the key stroke

to go to the location of the last change -

(A} Ctrl + Shift + FR (B) Ctrl + F7

(C) Alt + F6 (D) Shift+ FS

106. Match the chemical substances given in
column (1) with their appropriate application
gwen in column (1),
Column (1)
(a) Bleaching powder
8 |b) Baking soda
(¢} Washing soda
(d) Sodium chloride
Column (I1)
L) Preparation of glass
{ii} Production of H; and CI,
(iil) Decolourisation
A} Antacid
: ,'-' l-(lril}, = {ii), €= {iv), d - (j)
A=), b (i), c = (iii), d ~ ~ (iv)
'f-,-. b= (0, b= (i), < - (iv), d - (iii)
D=0, b~ (), c - i), g - g

s atits largest |, chlldrm

" With the onset of Puberty, |y eventually
~ Sheinks g Bets replaced by fa

‘”M

contains

104. feaferffaa o R GE gl Hﬂﬁ?ﬁ IS

I I_T;|1§1_'..| =

(A) oyt A e, TR

(B:l o ?'['[ r'."l il 1”::{ Tr”'. ﬁ! [':';{ a1

{C} # JJF'T T” i FT'[ --'{T. '-” :-.!I'{ ’J”'

#1ME, @ UAUE

(D) it 3T U,
105. Ty Uw —as - 2019 & @aH 4, AfAH af¥ad+ &
@I W oA @ fan, B Wi B -
(A) FweTer + finge + F8 (B) dwgled + F7

(C) affee + F6 (D) fIrse + FS

108. fem (1)  fay 7q A gwRt & e
() % Ry T Iuga AT € figs

Y | |
B (1)
(a) =fifeT qrasw
(b) AT wrer
(¢) @HRRAT wrer E
(d) WifEzm Feirrse
BT (1)
() ®ra & 4 8
(i) H: 3R Cl, & Sagres &
(iii) faar oy
(iv) Terfys
) 3~ i), b - i), ¢~ i), g (i) 2.
®) a~(i), b (i, €~ (iii), d = (i) {
© a— i), p - = (i), €= fiv), d— (i) i
= ©) a-(ill],h—(iv) €= (i), d = (i) (ii
' W A TR g W & afea A€ (iv
M*mwmﬁl@mt*: o~
;:T wI mﬂmﬁﬂ 8 ) (A)
Bwow (®) wrgcieteiors &
R O s R 1, @




108. Choose the right statement / ¢

ISRO -

atements about

{1} ISRO buwilt India’s firgt satellite, Aryabhat,
C [
which was launched by ysa i 1975

(2) Antrix Corporation is the marketing arm of
- 3 ©

ISRO

(3) Master Control Facility of ISRO is situated in
Hassar

(A) 1,2.3 (B) 1 2

(€) 2.3 (D)1 3

109. Consider the following —

1 Methane E
1 Nitrous Oxide

3. Halons

Which of the above is/are responsible for
depletion of stratospheric ozone?

(B) 1,2and3

(D) 3 only

{A) 1 and 2 only

(C) 1 only

0. Choose the correct statement related to
Biodiversity -
(A) Biodiversity
latitudes
(B) High Himalayan regions have the highest
biodiversity in the world
(C) Biodiversity is found equally on earth
(D) Biodiversity increases towards the Equator
1. When an object falls freely towards the earth,

then its total energy -

increases towards higher

(B) decrease

(A) increases
increases then

(C) remains constant (@) first
decreases

bout Li-Fi-
M2 Consider the following statements @

(i} It uses normal by

(il) This technology Uses
light.

(iif) The speed of Li-Fl

(iv) It is eaqncud to be

M““

| —
SR (ISRO) & 410 &

{2; MW TAR

(3) gow . ATV @iedtaa et
E Gl

(A) 1,23

C) 2 3

Fra me famm &t

1, e

2. A15gY FiFaEs

3, gy

M 4 9 & aeaesd@ o oaa

foe aswerd & /87

M TFas 132 (B)1 233

(C) waa 1 (D) #aa 3

wiq faftwar @ watum af sum @

m =

(A) T fafderay Seaw SEme @ e aedy 2

(B) 5= Bwadl & 7 Rwg & weifas 39
fafaern 2

(©) gt W o faftern vH WA W o 8

(D) <t fafderen e Y @1 SR wadr 2

109,

2=

S T

110 e

11, gfe #¢ T a3 w0 F g W e g
FEH T F -
(A) Tl & (8) wed &
(©) fRer &l B (0) uzel TR 2 fiy,
et &
12. FE — T8 B an A FETeren T uT fey
ﬁtﬂg}mmﬁn%%ﬁ:w WD Ty gy
g e &1
() T EE g TR Ty
gt wed 8

(i) g —wrd afty wg-wrd @ GEN 4 e
I:ﬂ g, arg—w1d # UH‘""‘M e,

gy W
m m s () o lﬂl"f‘ “‘,-




stance of a parallel arcuit consisting of

inches 15 12 Ohm. It the resistance of
e branchiis 18 Ohm, what is the resistance of
the othi
(A} 64 Ohm (B) ag Ohm
i€y 3 Ohm (DY 18 Ohm
114 Comma - Shaped Bacteria is called as -
(A Spnnillum (B) Bacilli
(€) Vibrio (D) Cocci
15

What does "OTEC' stand for?

(M) Ocean Thermal Energy Conversion
(B) Oif and Thermal Ene rey Conservation
(€} Of and Thermal Fvolution Convention
(D) Ocean and Tide Electric Conservation
116, \p arow of 21 men when Manish was shifted by
four places towards the right, now he becomes
12" from the left end What was his earlier
position from the nght end of the row?
(A) 10' (B) 1a
(C) g (DY 4
N7. Find the wrong number in the piven series from
the given alternatives
14, 39, 84, 155, 260
l. (A) Ba
(€) 39

(8) 260
(D) 155
- A shopkeeper gives rebate of 20% and 10%
sticcessively on print price of 3 chair. If cost of
“thair Is T 2,000, then how much amount will

8 18600
D) 1 500

of the following diagrams

sents the relation between Tree, Teak,
der?

e Tider T Wi 13

13. g greER
— — ey ST 2
. g @ | TfE Uw T @ WoN 18 S B M
< ‘-—-—‘ . | = 37
'T ] —ll ._1 i TITE] ;{.‘“ B
D ©

(B) 48 3™
(D) 18 31

(_ } (A) g4 314

«— (C) 36 311
P+
l;“', TAITONTH & HIEN 4 W[ Jﬁ\_-n_] 3
(I-) (A) ¥OERan (B) g1
(C) fafgam (D) FIHTS

L

1By ‘OTEC' &7 3! £ —

;‘é (A) 3o o QS HET

f"?‘ (B) sifge Tvg epfd AUl HEAQI

" (C) g nvs e ] crr@[“l—! =4

i (D) 31 TUE TIEE SofdTd FeAdYH f

48 21 gout 1 @ i & A B HH‘IT SR
WA GYETI AT W@ g8 &1l BN |9 12 a

\O v w2 ufim A I B @ Swen g A

o0 W R or?

RERTIBT

w (©) gdi

——

(B) 144
(D) 124
1% fw g Rt A @ A s ¥ o wen
Y §d HINAY -
14, 39, 84, 155, 260
42 (A) 84 (B) 260
% (€) 39 (D) 155

v-fzﬁlu%aﬁqeéméluﬁ:a—mmrﬁ

Zmﬁ_mmeﬂﬁmm { 12
E'?ﬂé?n? Ll i

(A) 1,440

124

131A




12[' Choose correct mirrar !l""‘dhr 01- L‘!‘U’Pﬂ qUQ t
Isl)
figure when mirror is placed on the line ABJ ;

rrp-rIJ1

k%
Rk

Twn candidates fought an elaction. Clne:%
them got 65% of the total votes casted andmm
by 420 votes. What is the total number of vom

(D)

polled if no vote is declared invalid? i
(A) 1500 (B) 1400 ™
(C) 1200 (D) 1300 .

122. statement ~ Quality has a price tag. India is L0y
allocating lots of funds to
education.

Conclusion — |, Quality of education in Indiav™
would improve soon,
1. Funding alone can enhance
quality of education.
(A) Neither | nor Il follows "
(B) Only conclusion | follows
(C) Only conclusion Il follows
(D) Both | and Il follows
123. The difference between the simple interest aecd
the compound interest an a certain amount
5% for two years is T 25, what is the amoun
(A) T 5000 (B) ¥10,000
(€) T 15,000 (D) T8000 |

124. {ow many triangles aré there in the follow

figure?

384

1"

«

13

1313138

3845

131111

120.

121,

122,

123.

. Gl
A T g arEfd 68 29 gierar A
_ll [ | {l 4 ﬂ‘ﬂ LY T
B " F
(A P e )
AL ™ Al
— '\/ c-— el
-f‘{.J \b -~ h\'r
© 9 © 4 P v
KoK
I‘*q © 1'-}1
a1 et 9 ue AT F@SI) 990 | o 4
!J_"_'r]itr‘l—'ljh':ollul‘ |P]‘rn\4”
| i fEorft &1 o | o2 o1 w5 am= Hifke
TE [ T A S 70 aiel ddl @l ey
B %
(A) 1500 (B) 1400
(C) 1200 (D) 1300
FUH - WQITI T T 1-?' -""I h[\l[ 4| HITH

Wﬁ"*fW?ﬁTﬂ*vﬁhﬁﬂ
¥ & |
oy i‘Tﬂﬁ‘iT"ﬂHu‘]‘l‘ﬂTT—nI];:ﬁ,—,: 8
IR BT |
I 3 o tITIF*“'I en &% T
TG W & |
(A) T T ISR AT A N IFET ey ¢
(B) whgei Frad | apfammy v A
(C) et et |1 SiEer e 2
(D) | &% (1 ETH] HFET wed #
g Fivam A 9 5% @ F @ @ g
fom s @ e Ayl e
s 25 T8, wfd war €7
(A) 9000 T (B) 10,0007
(C) 15,0007 (D) goon ¥

EA|

LR
T iy &

24. =t s A oot g &7




B'c n'.u[}lf‘f Dis 'L.I:%T"}th[l_f E
sict@r L
. __1:..'"--

- A related to D?
nother How 15 A eldied 1o E
1§51

idaughter (B) Grandmother

i hter (D) Grandfather
G Oaupniel
|G) LI3UR

wcome 15 3/5 times of 8's income and C's
pme 15 6/5 times of B's income then the ratio
INCoOMg » 0f 2

fC's income to A's income s -

(A} 21 (B) 31
€ 1.2 (D) 1:1
IF THIPPLE 15 coded as DMOQHSS in a code
language, how is VICTORY coded in that

h ]
Anguage -

(A) UIBUNSX
(C) WHDSPQZ
Rahul starts walking from point R, which is 16
rﬁ to the wast of point T. From point R, he walks
ZQ-T'I"- to the south, takes a ngh! “1rn and walks
for 10m. He then takes a righ

(B) ZxPSDHW
(D) xsNuUBJU

128.

urn, walks for
&m and stops at point C. Gaurav starts wialking
from POINL A, which is 8 m to the south of point
. From point A, he walks 10m to the East, takes
a right turn and walks for bm. He
right

then takes a
turn walks for 26m and stops at point B,
What is the distance between point C and point

verage age of a class of 40 students and a
er reduces by 0.5 years, if we exclude the
I the initial average age is 18 years,
‘what is the age of the teacher?
' | years (B) 40 yoars
! (©) 39 years

the rﬁamlmromphcethq*?- from
options -

125. A8 @ 7& 2 ¢, 8 o wm 21 0, C W Ry

126.

127.

128.

129,

EIED & A 2| A fbw wwR D U Wik

(A) g
(C) g

(B) arh
E.D] 214G

ale A @ sy, B ) amw W 3/S T & TR ¢
T B Fi oS H 6/S A E AT C B Ay
T A BT WY G AT 2

(A) 2 (B) 3:1

(© 1 (D) 1:1

[ waf@ a7 9fd TRIPPLE &1 apef
DMOQHSS &, &1 S¥i %47 # VICTORY w1 3

T &

i1
2
13

(A) UIBUNSY
(C) WHDSPQZ

(B) ZXPSDHW

(D) XSNUBJU

VES AT R W N qE @var &, o g 1@
of¥am 416 A ) fig R W a' 20 A 2R
B AR weT 8.« e & v 10 EEGL
&1 v e < e 8, 6 @ wory & e fifg
€W Y W Bl oTRT g A W e bR
T8 o g 1@ g i A # ) fig A
8 7% 10 N, o M Iy awar & arl g @
RN T — qEEr # afie
26 M TR # ok g 8 W v
cmefﬂgaa%ﬂ'rﬁffﬁiﬁ%ﬁ#‘r

13

%

136

137.

87

®) 123 (®) 25
© 10, ® 159
R = R o vy W 40 Bt st @@

aﬁma’; 34 0.5 74 i #
o ML wive Y 187 B, at
R 1 Ay &
(A) 41 o



131, an

M Y |0 2 AL S R 3 _
x| i i I PEG G _|—:-—__; _-ﬁ?".."'

— Gy ldch

M + tgoy — TEo
132. & v & Wy § i

= W TdEer e a8 80
A8 — Ay
(C) T 9 — W e
133. TR A QB v Y Rl R a8
(A) ARG
(C) fea
134. fihw e A qoqoy WM &1y S8 g &7
(A) TR (B) nfauna
(C) ?T*"[T‘?qﬂ (D) AETfavaT
135. “ared & d § wy@E ApTfed g, @ e wiE e R - ,
(A) anara TR E
©  faguw .

. r uiJIFFEHHI'_I\Q‘
136. e we @ ghe W W e .
il “ﬁ( ' T, TS, 3 oy (B) ST, S0, ARE-afy
(A) JeTE— :

_SFaT. v ©  em—uww, se-RE, sr-rww

(©  um-ur, SE

wit &7
. egrez @1 B qiwifd e
137. fara fmen # ‘Allocation’ ¥ @ P

20
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131, 3T &R

| &/ =irs
g’

(A) 9 4+ & - e
(C) M+ g -

- TTET

132. @raq anl & WAy § i AT e

i (D)
133. =1 B W @ W wen § P R g @
(A) GGt (B)
! (C) ffas (D)
134. fFn faes 0§ qOqe /9 &1 warT 98 gIn 87
(A) OIS (B)

(C) aatge (D)

(B)
(D)

(A) arsiarad

(C) GENED _.
196, fyelm T @ gfie @ WA fw @ T #

Afycaa— U -, 33 (8)
(A)  srfererE-IueEel _ .
c ATA-TT FER-IATT, yyad—seat @
(C) =T,

137. fpw faweq i ‘Allocatio -
() (0)
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2 9 ‘hj‘::"‘_ll idpen B TH Fi

135. ‘qred @ N # WE APTed 08 # o wwls ™ 2 -
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er the questions that follow -

d the given passage and answ and persuading them to go to schog|

s : Rea L
D:ff:d!Dl’lltld-l to 143;' e —— fhild!'?n out Of htd

pespite the frustrating years o - id. and become industrious ang
fmid h nternal drive to learn about their world,
young children have an interne \ : stifled or encouragag
- 105 ither be stifie
tive individuals, Their educational eagerness and curiosity can €
procuctive viduals, BIr e0ULs &

children's development of
by parents, teachers and other adults. Aware parents can encourage their

| J q ' me environments teach
important life skifls, Besides teaching them to read and write, school and ho

o ituals (like playin
children cooperation and interdependence. Children aiso engage in important play rituals ( g

i a :
with dolls ar cops and robbers) which prepare them for adolescence and adulthood. Supportive parents

tan promote crucial learning of life skills. Above all, school-age children struggle with feeling of

mnferiority and incompetence when they compare themselves with their peers. If they don’t fit in, they

might feel insignificant. Loving and accepting parents help these children develop the confidence to

create a future where they can thrive and feel good about themselves.

141, The antonym of the word ‘curiosity’ given in the passage is —

(A) inquisitiveness (B) intrusiveness

(D) apathy
The synonym of the word ‘s ifled’ given in the passage is -
(&) suppressed

(€} amplified

€ prying
142,

(B) inspired

©) enhanced
3. Some games prepare the children for:

(A) good health
Q) adolescence and adulthood

S Ct answer from the ive =
RS - S fierce wild animal®, i
(A) the, the (B) the, 5
) 2, the D) 3,24
' Give one word substitute for
ange number of fish swfmming-together.
troupe (8) litter EE
(D) SWarm

22



er writing?

Subject, Salutat; editor is - Sender’s address, Receiver's addres
lon, Body of letter, Subscription, Date.

1) The right format of Writing a date in all

i formallettersis ‘30" May, 2022" instead of *30/05/2022'
(V) "Yours Truely' is used for ending an informal letter

Code-

(A) Only Wl and IV are correct (B) Only Wllis correct

(C)

Only |, 11l and IV are correct (D) Only i, lil and IV are correct

8. (hoose the meaning of the underlined phrase/ldiom -

| am going to stay at home because | am feeling under the weather today.
(A) sick

(B) irritated
' D) unhappy
(C) depressed (D) unhapp
8. Choose the correct Hindi translation of the given sentence =
inside the bag?
Mom, could you put my books ol . E
(A) =i am 74 faamd n GEDl

given options — S indirect speech)
answer I i pooks”: (Change v e
Choose the correct #Take back yoUr ks
The teacher said t© " o take back ot
boo
(&) The teacher sk M o) e backyour 2o
PR imd# Mmmke back your

yo take back b0t

23



